AR/HD RIG
Instruction Manual

“

DOG SPORTS




Never setup
or operate

around
overhead

power lines

M

Beware of weather
conditions/potential
lightning strikes and

heavy wind
N ——— e/

KEEP

FINGERS
CLEAR OF

PINCH POINT




Step #1 Assemble Cart

1/4" x 1" HDPE
wheel Spacer qty8

5/8"-11 Lock Nut
qty4

8"x21/2" Solid
Rubber Wheel qty4

@ Brake

Weight Pegs Requires
35Lbs per Peg

(Weights Not Included)

e Battery Tray
(Battery Not Included)

2,

“

KBC

DOG SPORTS




Add Weights To Cart
Before Moving On To
Step #3
Requires 35Ibs Per
Peg (Weights Not
Included)

Step #2 Mount Mast Base To Cart

0 Bolt Mast Base To Cart Using
1/4-20 x 2" Bolts, Washers, And

Lock Nuts

Bolt Mast Support Legs To Tabs On
Outside Of Cart Using 1/4-20 x 2"
Bolts And Wing Nuts

B,

(Manual Rigs Only)

For Manual Operated
Rigs Slide Pulley Over
Front Support Leg

“

DOG SPORTS



Step #3 Install Mast Carrage

Slide Mast Carriage Over Mast
Base Section.

oIy

KBC

DOG SPORTS




Mast Section#3

Mast Section #2

Step #4 Connect Mast Sections

Connect Section #2 And #3 Together Aligning The 2 Yellow Dots On The
Back Of Each Section. Secure Using 4- 1/4-20x 1/2" Button Head
Screws.

Join Section #2 And #3 Ontop Of Mast Base/Section #1 Alighing The
Yellow Dot On The Back Of Each Section. Secure Using 4- 1/4-20 x
1/2" Button Head screws.

| Mast Section#3

Mast Section #2

\ e g

KBC

DOG SPORTS

Mast Base / section#1

Mast Section #2




Step #5 Insert Mast Carriage Crossbar

Insert Crossbar Through The Top Holes On The Back Of The
Mast Carriage. Press Down On the Two Spring Pins To
Secure Crossbar.

r ( vV vV

{ B [

i
\

|
|
A

O
=
|
I
=
-
g —=
6
| [ |

“

KBC

DOG SPORTS




Step #6 Attach Boom Section #1

Slide Boom Section #1 Over The Stainless Peg On the Bottom Of The Mast
Carriage And Into The Notch On The Top Secure With 1/4-20x 1 1/4" Bolt
And Wing Nut.

Boom Section #1

2,

Py

KBC

DOG SPORTS




Step #7 Attach Boom section #2
Add Stablizer Bars

Slide Boom Section #2 Over The Stainless Steel Peg On Section #1 Secure Top With
14-20 x 3/4" Bolt And Wing Nut.

Screw Stablizer Bars On Threded Studs Attached To Section #2

Threded Studs
I

!
v
®

w_o

ey —
Boom Section #1 Boom Section #2

I -
I -
Stablizer Bars

2,

\ a4

KBC

DOG SPORTS




Step #8 Attach Boom Section #3

Slide Boom Section #3 Over The Stainless Steel Peg On Section #2 Secure
Top With 14-20 x 3/4" Bolt And Wing Nut.

— <° i

s q— — —

Boom Section #2 Boom Section #3

2,

“

KBC

DOG SPORTS




Step #9 Attach Support Cables

#2 Attach Eyebolts
Attached To Support Cable

To Each End Of Mast
Carriage Crossbar Using #3 Hook Support Cables

Wing Nuts Through Notches On

—— Stablizer Bars

ﬁ .

&
_ #4 Once Support Cables Are Attached Use Wing Nuts To
Adjust Tenison/stiffen Boom

#1 Clip Small Carabiner Attached
To Support Cable Through Hole At
The End Of Boom Section #2

—

“

KBC

DOG SPORTS




Strings and Drive Line

Motorized

MCS-21-300 Manual

Wrap Drive Line
< Around Cleats To
Adjust Tenison

—J —J | S |

/ | Attach HD
Use Chord Locks To Adjust Strings Here

How Far Bumper Is Lowered.

Slide To Boom Carriage Q;\Attach ARf
When Using For HydroDash. Strings Here

Motorized Rigs Can Be Operated Manualy By
Loosening Drive Line From Cleats And
Extending Through Openings On The Bottom Of

Motor Houseing

ﬁH Pulley Used On Manual
Operated Rigs Only

2,

L o

KBC

DOG SPORTS




Raising and lowering The Boom

0 Use Pin To Adjust
Boom Height For

_ . HydroDash

Anchor Ring ~ o

To Hook On ) s

Back Sld: Of 7 Store Pin In Lowest Position When

Mast When Boom Is Raised To Prevent Boom
RalilﬂgAB_OO'“ From Resting On Side Of Pool When

or_ Ir Lowered
Retrieve

q

rom
éii_ii
is ¥ -

!

I
I Keep‘l-l\\!eegzllgv} E)on-Clear

KEEP Il Of Any People or Obstructions
FINGERS Z When Raising And Lowering
Boom For Safety

CLEAR OF
PINCH POINT

A,

Py

KBC

DOG SPORTS




Adjusting The Brake

‘ m' |

To adjust brake loosen jam nut and turn rubber
bumper to increase pressure.

24

KBC

DOG SPORTS



t
Gord

Lv Pigtail
Connector

}

—— ——
=" ="
= =
[ e
= ="
——— ——
.-—-"'-l [t ===

g gt

Motor
MCS-300-21

Motor Control System Setup

Control Switch
Press to the Right to send toy
out
Press to the Left to bring toy hack
in

40>

Press to reset in the
eventfuse Is triped




